Week 5, Day 1
Short multiplication

Each day covers one maths topic. It should take you about 1 hour or just a little more.

1. ( Start by reading through the Learning Reminders. )

Round decimals to the nearest whole, tenth and hundredth.

They come from our PowerPoint slides. —
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2.( Tackle the questions on the Practice Sheet.
There might be a choice of either Mild (easier) or
Hot (harder)!
Check the answers.
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3.( Finding it tricky? That’s OK... have a go with a
grown-up at A Bit Stuck?
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4.( Think you’ve cracked it? Whizzed through the Practice Sheets?
Have a go at the Investigation...
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Learning Reminders

Use short multiplication to multiply 4-digit numbers by 1-digit numbers.

2341 5372 4278 6143
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Target 20,000
Decide which 4-digit number to multiply by a

number card. A
You are aiming for an answer as close to j

20,000 as possible. You can use short

multiplication or the grid method.... J
How did you decide which 4-
How close to 20,000 wereﬂ digit number to use?
you? M Did rounding help?
/ /
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Learning Reminders

Use short multiplication to multiply 4-digit numbers by 1-digit numbers.

2341 5372 4278 6143
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Learning Reminders

Use short multiplication to multiply 4-digit amounts of money by single-digit numbers; Use

rounding to approximate.

l "~ Roughly how much would it
cost to buy 3 of these?
Round to the nearest pound

Sony MDR-ZX100 to estimate the cost.

Outdoor Headband
Headphones -
Black by Sony

(25 Mar 2011)

£23.67

7

3 x £23.67

x| £20| £3| e0p| 7p]
3| £60| £9| £1.80| 21p £71.01

Add the i)ounds, and J L

3 x 60p = £1.80 J [ then the pence.

.

£23.67
X 3
122

£71.01

J

3 x60p+20p =£2 J
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